Blast From the Past!

Exam 1
Fall 2018

Problem 1 (30 pts)

An electric field in free space 1s described by

E(x.y.z.t)=Zcos(ot+ 7 /4+kyy) [V/m],

where kt, = o\ 5, -

a) Find the electric field vector in the phasor domain.
b) Find the magnetic field vector in the phasor domain.

¢) Find the complex power going through a surface § in the upward sense. The surface S is a
square that is 2 meters x 2 meters, and the face of the square is perpendicular to the vector

v =(2(1)+5(2)+£(3)).

Note: Please evaluate all constants that appear in your answers.
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Blast From the Past!
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Blast From the Past!

E(x,7,2) = 2¢/ e [V/m]
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We then have:



Hence, we have:
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